Initials	HL027 scoring rubric


Math Domain


�
�
Number/Quantity�
�
Shape/Space�
�
Function/Pattern�
�
�
�
�
�
�
�
�
�
�
�
Chance/Data�
(�
Arrangement�
�
�
�
Math Actions (possible weights: 0 through 4)


�
1�
Modeling/Formulating�
0�
Manipulating/Transforming�
�
�
�
�
�
�
�
�
3�
Inferring/Drawing Conclusions�
2�
Communicating�
�
Math Big Ideas


�
�
Scale�
�
Reference Frame�
(�
Representation�
�
�
�
�
�
�
�
�
�
�
�
Continuity�
�
Boundedness�
�
Invariance/Symmetry�
�
�
�
�
�
�
�
�
�
�
�
Equivalence�
�
General/Particular�
�
Contradiction�
�
�
�
�
�
�
�
�
�
�
�
Use of Limits�
�
Approximation�
�
Other�
�
�
�
�
�
�
�
�
�
1.	If students had only one initial then there could be at most 26 students in the schools with different initials. Let us assume that is the case. As soon as a 27th student comes to the school, he or she is bound to have the same initial as one of the students already there.


	Now if students have two initials, then there could be at most 26 students with different initials whose first initial was A. Similarly there could be at most 26 students with different initials whose first initial is B. There are 26 different letters in the alphabet. Thus there are 26 x 26 possible sets of different initials. As soon as there are (26 x 26 )+ 1 students, one of them is bound to have the same initials as one of the students already there.


2.	Suppose we have 26 x 26 (or 676) students all with different initials. We add one student. Now we know that there is one pair of students with the same set of initials. Now add one more student. That student can either have the same initials as the two students who have the same initials OR that student can have a different set of initials. When the last student is added to the school, there is 1 way to form a group of three students with the same initials and 675 ways of forming two different pairs.





�
partial level�
full level�
�
Modeling/�Formulating


(weight: 1)�
�
Give evidence of an orderly scheme for listing the possible sets of initials


�
�
Transforming/�Manipulating


(weight: 0)�
�
�
�
Inferring/�Drawing Conclusions


(weight: 3)�
Give a correct answer to 1.�
Give a correct answer to 2.


�
�
Communicating


(weight: 2)�
Give a clear explanation for 1.�
Give a clear explanation for 2.�
�
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